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A^Zgb_ OZjvdh\kdh]h gZpbhgZevgh]h mgb\_jkbl_lZ jZkiheh`_gh \ p_glj_
OZjvdh\Z ��ihkljh_gh \ ���_ ]h^u ;;�klhe_lby ��?]h \ukhlZ ² ^h ���f��iehsZ^v ���
luk�� f��� AZe_lu jmdhdjueuo \ a^Zgb_ nbdkbjmxlky Z\lhjhf k abfu ����� ]��
©GZr_kl\b_ª� \_q_jgbp \ a^Zgb_ gZ[ex^Z_lky _`_]h^gh \ Z\]mkl_±hdly[j_��
;hevrbgkl\h gZoh^hd k^_eZgh \ hdgZo�� hjb_glbjh\Zgguo gZ k_\_jh�aZiZ^ ²
k_\_jh�\hklhd ��

AZ \_kv i_jbh^ k Z\]mklZ ih hdly[jv ����±����� ]]�� \ a^Zgbb hlf_q_gh ��
i_j_e_lguo ]jmii \_q_jgbp qbke_gghklvx [he__ ���hkh[_c �\k_]h ���� a\_jvdZ��b
��� h^bghqguo gZoh^hd ih �±�� hkh[_c �\k_]h ��� a\_jvdZ��� FZdkbfZevgZy ih
qbke_gghklb ]jmiiZ ² ���� a\_jvdh\ �\k_ ih]b[eb���fbgbfZevgZy ² ���� kj_^g__
² ���� Khhlghr_gb_ iheh\ khklZ\beh ���� �kZfph\ d kZfdZf��� <k_ gZc^_ggu_
`b\hlgu_ ² l_dms_]h ]h^Z jh`^_gby�

<_jhylgh ��\ i_jbh^ fb]jZpbc jmdhdjueu_ ^ey ^g_\hd bkihevamxl s_eb b
gbrb \ kl_gZo a^Zgby�� ]^_ b hlf_qZxlky bo abfh\db ><eZs_gdh ����@�� JZg__
^g_\db i_j_e_lguo \_q_jgbp hibkZgu ^ey x`ghc MdjZbgu >:[_e_gp_\ ����@��
Ih�\b^bfhfm�� kemqZcgh g_dhlhju_ ]jmiiu \_q_jgbp ihiZ^Zxl g_ \ gbrb \
kl_gZo��Z \ hdgZ��hldm^Z g_ fh]ml \u[jZlvky b ih]b[Zxl��< ihke_^gb_ ^\Z ]h^Z��
[eZ]h^Zjy jZ[hl_ khljm^gbdh\ DZn_^ju ahheh]bb b wdheh]bb `b\hlguo ih
ij_^hl\jZs_gbx aZe_lh\ \ hdgZ b ih k\h_\j_f_gghfm \uimkdm ihiZ\rbo \
©eh\mrdmª�a\_jvdh\��bo ]b[_ev m^Zehkv khdjZlblv �
Ebl_jZlmjZ
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